
 

 

ITI Computer Operator and Programming Assistant (Python) 
Module 9 Network Communicating & Internet Concepts 

 
(1). Which of the following cable transmits messages in the form of light waves? | िनɻिलİखत 
मŐ से कौन सा केबल लाइट वे̺स के ŝप मŐ मैसेज Ůसाįरत करता है? 

(A)   STP cable | STP केबल 

(B)   UTP cable | UTP केबल 

(C)   Co-axial cable | को-एİƛयल केबल 

(D)   Optical fibre cable | ऑिɐकल फाइबर केबल 

Correct Answer : D 

 

(2). Which server load reduces by proxy server? | Ůॉƛी सवŊर िकस सवŊर लोड को कम करता 
है? 

(A)   Proxy server 

(B)   Node server 

(C)   Domain server 

(D)   Original server 

Correct Answer : D 

 

(3). Which device used for modulation and de-modulation? | मॉǰूलेशन और डी-मॉǰूलेशन 
के िलए िकस िडवाइस का उपयोग िकया जाता है? 

(A)   Hub | हब 

(B)   Bridge | िŰज 

(C)   Switch | İˢच 

(D)   Modem | मोडम 

Correct Answer : D 



 

 

 

(4). What is the long form of e-mail? | e-mail का दीघŊ ŝप Ɛा है? 

(A)   Electrical Mail 

(B)   Electronic Mail 

(C)   Electrical Mailing 

(D)   Electronic Mailing 

Correct Answer : B 

 

(5). Which type of network connection covered 10 Km to 1000 Km area? | िकस Ůकार का 
नेटवकŊ  कनेƕन 10 िकमी से 1000 िकमी Ɨेũ को कवर करता है? 

(A)   LAN 

(B)   WAN 

(C)   MAN 

(D)   CAN 

Correct Answer : B 

 

(6). Data communication system spanning states, countries or whole world is____. | राǛो,ं 
देशो ंया पूरी दुिनया मŐ फैली डेटा संचार Ůणाली ____ है। 

(A)   LAN 

(B)   WAN 

(C)   MAN 

(D)   PAN 

Correct Answer : B 

 

(7). What is the main advantage of intranet over than Internet? | इंटरनेट की तुलना मŐ इंटŌ ानेट 
का मुƥ लाभ Ɛा है? 

(A)   Multi user 

(B)   Public network 



 

 

(C)   Safe 

(D)   Un-limited information 

Correct Answer : C 

 

(8). Which is need for real time audio - video conferencing requires two way communication? 
| रीयल टाइम ऑिडयो-वीिडयो कॉ̢ŽŐ िसंग के िलए िकसकी आवʴकता है दो तरफ कʄूिनकेशन 
की आवʴकता होती है? 

(A)   Receivers and senders | įरसीवर और सŐडर 

(B)   Packet to frames | पैकेट ůेम करने के िलए 

(C)   Pixels to packets | िपƛेल से पैकेट 

(D)   Frames to pixels | िपƛेल के िलए ůेʈ 

Correct Answer : A 

 

(9). Which is an example for WAN? | WAN के िलए कौन सा उदाहरण है? 

(A)   Ethernet | ईथरनेट 

(B)   Home network | होम नेटवकŊ  

(C)   Campus network | कœ पस नेटवकŊ  

(D)   Bluetooth network | ɰूटूथ नेटवकŊ  

Correct Answer : A 

 

(10). What Is full form of WAN? | WAN का पूणŊ ŝप Ɛा है? 

(A)   Wide Area Network 

(B)   Wide And Network 

(C)   Web Area Network 

(D)   World Area Network 

Correct Answer : A 

 



 

 

(11). Which of the following attacks to protects by firewall? | िनɻिलİखत मŐ से कौन सा 
आŢमण फ़ायरवॉल Ȫारा सुरƗा करता है? 

(A)   Phishing 

(B)   Dumpster diving 

(C)   Denial of service 

(D)   Shoulder surfing 

Correct Answer : C 

 

(12). What is the full form of SIP in voice over IP? | वॉयस ओवर IP मŐ SIP का पूणŊ ŝप Ɛा है? 

(A)   Session Initiation Port 

(B)   Session Initiation Protocol 

(C)   Session Initiation Path 

(D)   Session Initiation Packet 

Correct Answer : B 

 

(13). Which is need for video conferencing, video streaming, live chat and web based 
courses? | वीिडयो कॉ̢ůŐ िसंग, वीिडयो Ōː ीिमंग, लाइव चैट और वेब आधाįरत पाǬŢमो ंके िलए 
िकसकी आवʴकता है? 

(A)   Coaching | कोिचंग 

(B)   Learning organization | िशƗण संगठन 

(C)   Online development | ऑनलाइन िवकास 

(D)   Assistant to positions | अिस Őːट से पोिजशɌ 

Correct Answer : C 

 

(14). Twisted pair wires, co-axial cable, Optical fiber cable are the example of _____. | िǩːेड 
पेयर वायर, कोएİƛयल केबल, ऑिɐकल फाइबर केबल __________ के उदाहरण हœ। 

(A)   Wireless media | वायरलेस मीिडया 

(B)   Wired media | वायडŊ  मीिडया 



 

 

(C)   Wi-Fi media | वाईफाई मीिडया 

(D)   Local media | लोकल मीिडया 

Correct Answer : B 

 

(15). Which type of cable to connect different type of device in network? | नेटवकŊ  मŐ िविभɄ 
Ůकार के उपकरणो ंको जोड़ने के िलए िकस Ůकार की केबल का उपयोग करना है? 

(A)   Cross cable | Ţॉस केबल 

(B)   Straight cable | Ōː ैट केबल 

(C)   Rollover cable | रोलओवर केबल 

(D)   Yost cable | योː केबल 

Correct Answer : B 

 

(16). What is the full form of WWW? | WWW का फुल फॉमŊ Ɛा होता है? 

(A)   World Wind Web 

(B)   World Wide Writer 

(C)   Website Wind Writer 

(D)   World Wide Web 

Correct Answer : D 

 

(17). What is wired equivalent privacy? | वायडŊ  एİƓवैलेȴ Ůाइवेसी Ɛा है? 

(A)   Security algorithm for Ethernet | ईथरनेट के िलए सुरƗा एʎोįरदम 

(B)   Security algorithm for wireless network | वायरलेस नेटवकŊ  के िलए सुरƗा एʎोįरदम 

(C)   Security algorithm for USB communication | USB संचार के िलए सुरƗा एʎोįरदम 

(D)   Security algorithm for parallel connection | समानांतर कनेƕन के िलए सुरƗा एʎोįरदम 

Correct Answer : B 

 



 

 

(18). Which transmission media has the highest transmission speed in a network? | िकसी 
नेटवकŊ  मŐ िकस टŌ ांसिमशन मीिडया की टŌ ांसिमशन ˙ीड सबसे Ǜादा होती है? 

(A)   Coaxial cable | कोएİƛअल केबल 

(B)   Twisted pair cable | िǩːेड पेयर केबल 

(C)   Optical fiber | ऑिɐकल फाइबर 

(D)   Electrical cable | इलेİƃŌकल केबल 

Correct Answer : C 

 

(19). Which kind of firewall is connected between the device and network connecting to 
Internet? | िडवाइस और इंटरनेट से कनेƃ होने वाले नेटवकŊ  के बीच िकस Ůकार का फ़ायरवॉल 
कनेƃ Šआ है? 

(A)   Hardware firewall | हाडŊवेयर फ़ायरवॉल 

(B)   Software firewall | सॉɝवेयर फ़ायरवॉल 

(C)   Inspection firewall | इİɌफेƕन फ़ायरवॉल 

(D)   Microsoft firewall | माइŢोसॉɝ फ़ायरवॉल 

Correct Answer : A 

 

(20). What is the full form of IP? | IP का पूणŊ ŝप Ɛा है? 

(A)   Internet Protect 

(B)   Intranet Protocol 

(C)   Internet Protocol 

(D)   International Protocol 

Correct Answer : C 

 

(21). Which is default network mask for class A? | Ƒॉस A के िलए िडफॉʐ नेटवकŊ  माˋ कौन 
सा है? 

(A)   255.0.0.0 



 

 

(B)   255.255.0.0 

(C)   255.255.255.0 

(D)   255.255.255. 255 

Correct Answer : A 

 

(22). What is the full form of TCP? | TCP का फुल फॉमŊ Ɛा होता है? 

(A)   Test Control Protocol 

(B)   Transfer Control Protocol 

(C)   Transport Control Protocol 

(D)   Transmission Control Protocol 

Correct Answer : D 

 

(23). How many pairs of wires contains in category 5 UTP cable? | ŵेणी 5 UTP केबल मŐ तारो ंके 
िकतने जोड़े हœ? 

(A)   3 

(B)   4 

(C)   5 

(D)   6 

Correct Answer : B 

 

(24). What is the full form of HTTP? | HTTP का फुल फॉमŊ Ɛा होता है? 

(A)   Hyper Transfer Text Protocol 

(B)   High Text Transfer Protocol 

(C)   Hyper Text Transfer Protocol 

(D)   Hyper Text Transducer Program 

Correct Answer : C 

 



 

 

(25). Which device connects multiple network segments along with the data link layer? | कौन 
सा िडवाइस डेटा िलंक लेयर के साथ कई नेटवकŊ  सेगमŐट को जोड़ता है? 

(A)   Hub 

(B)   Router 

(C)   Bridge 

(D)   Switch 

Correct Answer : C 

 

 


